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Ideals for irreducible component#ﬂ)f Xpar
'=@?+u™ 4+t b—u, v +u™ - ta—1, 0™+ 20+ —3u+ 1)

I = (w4 u? 4+ b, v +u*+a+u, vt +u® 4+ u®+1)

* 2 irreducible components of dim¢ = 0, with total 78 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I:’ll-l.: <u72+u71+...+b_u, u72+u71+...+a_1, u74+2U73+

(i) Arc colorings
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(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u™ + 33u™ + .-+ + 26u — 15

cee—3u+1)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cs5,C7 W 18uP + - —3u+1
C2,Ce ut =20 F3u+1
€3 w™ —2u™ o 4 925Tu + 4TTT
C4,C10 wt—uP 4 —24u— 16
cg, Cy, C12 w50+ +5u—1
ci1 u™ +27u™ + - 4 1344u + 256




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Cs5,C7 y T8y 4 —Thy 4+ 1
C2,Cp y 18y - =3y 41
€3 Y™+ 18y™ + .. — 14218575y + 22819729
c4, C10 y™ —27y"™ 4 ... — 1344y + 256

8, C9, C12 y™ =63y -+ 3y+1

11 y74 + 33y73 + .-+ — 20480y + 65536




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C5)

Cusp shape

u = —0.370657 + 0.9309411
a = —1.27891 + 1.288201
b= —0.48568 — 1.336581

—3.10297 — 5.135621

—11.85911 + 6.704821

u = —0.370657 — 0.9309411
a = —1.27891 — 1.288201
b = —0.48568 4 1.336581

—3.10297 + 5.135621

—11.85911 — 6.704821

0.262234 + 0.9740451
a = —1.51097 — 0.711107
b= 0.13812 + 1.506911

u =

—10.11750 + 2.869551

—18.1096 4 0.1

u= 0.262234 — 0.9740451
a = —1.51097 + 0.711101
0.13812 — 1.506911

—10.11750 — 2.869551

—18.1096 4 0.1

0.391755 + 0.9454581
—0.120911 + 0.2460091
—0.073081 — 0.8760231

—0.03542 + 7.024981

0.391755 — 0.9454581
= —0.120911 — 0.246009.1
= —0.073081 + 0.8760231

—0.03542 — 7.024981

= 0.101503 + 0.9675481
= —1.333000 — 0.0865511
0.51887 4 1.445311

—6.74695 — 5.465941

—16.3389 + 3.39831

0.101503 — 0.9675481
—1.333000 + 0.0865511
0.51887 — 1.445311

—6.74695 + 5.465941

—16.3389 — 3.39831

—0.539297 + 0.8747131
1.41107 + 1.078681
1.43835 — 0.332431

—3.04067 + 0.794461

—0.5639297 — 0.8747131
= 1.41107 — 1.078681
= 1.43835+ 0.332431

—3.04067 — 0.794461




Solutions to I}

V=1(vol + v=1C)

Cusp shape

—0.423718 4- 0.8739361
0.058791 — 0.2986371
—0.105446 + 0.7203861

1.05241 — 2.065741

—5.32240 + 3.746871

—0.423718 — 0.8739361
0.058791 + 0.2986371
—0.105446 — 0.720386.1

1.05241 + 2.065741

—5.32240 — 3.746871

0.358544 + 0.8954391
0.987293 — 0.6274441
0.663180 + 0.1455911

—2.38686 + 2.655101

—13.1205 — 6.35971

0.358544 — 0.8954391
0.987293 + 0.6274441
0.663180 — 0.1455911

—2.38686 — 2.655101

—13.1205 + 6.35971

0.394012 + 0.9792471

= —1.11170 — 1.073591

—0.296049 + 1.0600901

—5.08396 + 11.124601

U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b

0.394012 — 0.9792471
—1.11170 + 1.073591
—0.296049 — 1.0600901

—5.08396 — 11.124601

u =
a =

b

0.103312 + 0.8969311
0.887399 — 0.1071341
0.1026740 + 0.02588901

—1.62241 — 1.909881

—12.59659 + 2.966781

u =

b:

0.103312 — 0.8969311
0.887399 + 0.1071341
0.1026740 — 0.02588901

—1.62241 + 1.909881

—12.59659 — 2.966781

b=

—0.162278 4 0.8820801
—1.86533 + 0.015561
0.61352 — 1.711431

—4.28589 + 0.175921

—15.2224 4+ 1.29821

b=

—0.162278 — 0.8820801
—1.86533 — 0.015561
0.61352 + 1.711431

—4.28589 — 0.175921

—15.2224 — 1.29821




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

0.228592 + 0.8656427
—0.205409 — 0.3185381
0.393610 — 0.8273051

—3.11888 + 1.922651

—16.9691 — 4.84751

0.228592 — 0.8656421
—0.205409 + 0.3185381
0.393610 + 0.8273051

—3.11888 — 1.922651

—16.9691 + 4.84751

—0.793537 4+ 0.7970111
1.20434 + 2.949431
3.24568 4 1.594481

—3.39031 + 1.345101

—0.793537 — 0.7970111
1.20434 — 2.949431
3.24568 — 1.594481

—3.39031 — 1.345101

—0.800342 + 0.8711371
—0.361382 — 1.0044601

= —1.018710 — 0.0979401

2.93090 — 0.8449471

—0.800342 — 0.8711371
—0.361382 + 1.0044601
—1.018710 4 0.0979401

2.93090 + 0.844941

0.787585 + 0.8927831
3.73862 — 2.99484T1
5.51026 + 0.889461

0.96592 4 2.964151

0.787585 — 0.8927831
3.73862 + 2.994841
5.51026 — 0.889461

0.96592 — 2.964151

—0.648967 + 0.4801881
0.67572 + 1.636061
1.05520 + 1.069911

—1.82857 — 5.136571

—7.61220 + 5.786341

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g
|

= —0.648967 — 0.4801881

0.67572 — 1.63606.1
1.05520 — 1.069911

—1.82857 + 5.136571

—7.61220 — 5.786341




Solutions to I7*

V=1(vol + v=1CS)

Cusp shape

= —0.792974 + 0.9145141
—0.925828 — 0.0487081
—1.136000 +- 0.5850101

2.79856 — 5.138961

—0.792974 — 0.91451471
= —0.925828 + 0.0487081
= —1.136000 — 0.5850101

2.79856 + 5.138961

= 0.871182 + 0.8428541
= —0.43677 — 4.175781
= 3.19153 — 4.155211

4.79039 — 2.568851

0.871182 — 0.8428541
—0.43677 + 4.175781
3.19153 4 4.155211

4.79039 + 2.568851

—0.865285 + 0.8521841
—0.446010 — 0.3895691
= —1.374710 + 0.2152811

5.30374 — 0.191991

—0.865285 — 0.8521841
= —0.446010 + 0.3895691
= —1.374710 — 0.2152811

5.30374 4 0.191991

= —0.889310 + 0.8310841
= —0.58412 4 3.553481
= 2.51405 + 3.821611

3.25231 4 8.920071

= —0.889310 — 0.8310841
= —0.58412 — 3.553481
= 2.51405 — 3.821611

3.25231 — 8.920071

= —0.880501 + 0.841506.1
= —0.09655 — 1.431751
= —0.96541 — 1.112061

8.11567 + 4.509871

= —0.880501 — 0.8415061
= —0.09655 + 1.431751
= —0.96541 4 1.112061

>~ & S| @ €|l @ 8> @ 8| @ 8|l 9@ &8 Q@ 8| & 8|l & 8|l o &
|

8.11567 — 4.509871




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.768948 + 0.9538151
3.60195 + 0.748951
3.28481 — 2.835531

—3.85290 — 7.230151

—0.768948 — 0.9538151
= 3.60195 — 0.748951
3.28481 + 2.835531

—3.85290 + 7.230151

0.875221 + 0.8636611
= —0.24047 4 1.566791
—1.32613 + 1.108741

9.13605 + 1.168921

0.875221 — 0.8636611
—0.24047 — 1.566791
—1.32613 — 1.108741

9.13605 — 1.168921

0.836796 + 0.9055661
—0.976206 + 0.8566431
—1.69337 — 0.262751

6.12773 + 3.116651

0.836796 — 0.9055661
—0.976206 — 0.8566431
—1.69337 + 0.262751

6.12773 — 3.116651

—0.284228 4- 0.7082321
0.571120 — 0.0054271
—0.023212 4- 0.2729231

—0.344659 — 1.1992201

—4.27090 + 5.421271

—0.284228 — 0.7082321
0.571120 + 0.0054271
—0.023212 — 0.2729231

—0.344659 4 1.1992201

—4.27090 — 5.421271

0.884209 + 0.8863881

= —0.453759 + 0.4929591 5.67600 + 4.744871 0
= —1.44464 — 0.273721

= 0.884209 — 0.8863881

= —0.453759 — 0.4929591 5.67600 — 4.744871 0

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g
Il

= —1.44464 + 0.273721




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= —0.824692 + 0.9564731
= —0.430534 — 0.6882481
—1.273820 4 0.4309191

4.97545 — 6.086331

—0.824692 — 0.9564731
= —0.430534 + 0.6882481
—1.273820 — 0.4309191

4.97545 + 6.086331

0.823326 + 0.9650581
= 4.31567 + 1.070741
2.38456 + 5.116771

4.40603 + 8.859711

0.823326 — 0.9650581
= 4.31567 — 1.070741
2.38456 — 5.116771

4.40603 — 8.859711

0.837491 + 0.9548951
= —1.59825 — 0.124381
—1.24032 — 1.396971

8.84737 4 5.181211

0.837491 — 0.9548951
—1.59825 + 0.124381
—1.24032 + 1.396971

8.84737 — 5.181211

—0.827734 4+ 0.9708431
—1.44770 4 0.291781
—0.93181 + 1.325971

7.70752 — 10.842901

—0.827734 — 0.9708431
—1.44770 — 0.291781
—0.93181 — 1.325971

7.70752 + 10.842901

0.858246 + 0.9464171
—0.453491 + 0.6314107
—1.39039 — 0.408831

5.48554 + 1.700331

> Q@ €| Q& €| & €| & & Q& &) & 8| & 8|l & 8|l & 8| & g

0.858246 — 0.9464171
= —0.453491 — 0.6314107
= —1.39039 + 0.408831

5.48554 — 1.700331

10



Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = —0.826554 + 0.981242]
a= 3.64712 —1.107641
b= 1.77061 — 4.595891

2.7778 — 15.27461

u = —0.826554 — 0.981242]
a= 3.64712 + 1.107641
b= 1.77061 + 4.595891

27778 +15.27461

u= 0.660743 + 0.2523017
a = —0.786755 + 0.7879971
b= 1.110110 + 0.0422051

—2.78259 — 7.305431

—7.59550 + 5.054321

uw= 0.660743 — 0.2523011
a = —0.786755 — 0.7879971
b= 1.110110 — 0.0422051

—2.78259 + 7.305431

—7.59550 — 5.054321

u = —0.573801 + 0.4092041
a= 0.527291 — 0.3346491
b = —0.483095 — 0.2404971

2.49523 — 1.665761

—1.39126 + 3.521611

u = —0.573801 — 0.4092041
a= 0.527291 + 0.3346491
b = —0.483095 + 0.2404971

2.49523 + 1.665761

—1.39126 — 3.521611

0.602855 + 0.2851591
a= 0.583424 + 0.4992251
b= —0.364134 + 0.4288261

u =

2.01747 — 3.359551

—2.79071 + 3.803741

0.602855 — 0.2851591
a= 0.583424 — 0.4992251
b= —0.364134 — 0.4288261

u =

2.01747 + 3.359551

—2.79071 — 3.803741

u= 0.611157
a = —1.22506
b= 1.19125

—7.12640

—11.6060

u = —0.543461 + 0.2700791
a=—1.07351 —1.112447]
b= 1.135140 + 0.0381011

—1.09335 + 1.706771

—5.63790 — 1.010961

11



Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u =

b:

—0.543461 — 0.2700791
—1.07351 + 1.112441
1.135140 — 0.0381011

—1.09335 — 1.706771

—5.63790 + 1.010961

0.476340 + 0.3627731
0.81595 — 1.631041
0.809668 — 0.7389981

—0.731866 + 0.5716851

—5.61090 + 0.523621

0.476340 — 0.3627731
0.81595 + 1.631041
0.809668 + 0.7389981

—0.731866 — 0.5716851

—5.61090 — 0.523621

b:

0.313519
1.64868
0.300888

—0.958769

—9.89680

12



IL 1Y = (u*+u?+b, v*+ v’ +a+u, u* +u®+u?+1)

(i) Arc colorings

o= (1)

a7 =
ag =
az =

a; =

(ii) Obstruction class =1

(iii) Cusp Shapes = —3u? — 2u — 11
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C3,Cs = ud +3u—2u+1
€2 ut —ud 1
cs,c0,en | ut
Co W 1
€7 ut 4 ud 3P 4+ 2ut1
cg, Cy (u— 1)4
C12 (u+ 1)4

14



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1,¢3,C Yyt 5y Ty 2y + 1
Cr
C2,C6 vty 3y 2y 41
€4, C10, C11 y4
4
C8, Cg, C12 (y—1)

15



(vi) Complex Volumes and Cusp Shapes

Solutions to I3 VvV—1(vol + /—1CS) Cusp shape

= 0.351808 + 0.7203421
= 0.547424 — 1.1208701 | —1.85594 + 1.415101 | —10.51825 — 2.961221
= 0.899232 — 0.4005321

= 0.351808 — 0.7203421
= 0.547424 +1.1208707 | —1.85594 — 1.415101 | —10.51825 + 2.96122]
= 0.899232 + 0.4005321

= —0.547424 — 0.5856521 5.14581 — 3.163961 | —8.98175 + 2.834891
= —1.39923 + 0.325641

= —0.851808 — 0.9112921
= —0.547424 + 0.5856521 5.14581 4 3.163961 | —8.98175 — 2.834891

U

a

b

U

a

b

u = —0.851808 + 0.9112921
a

b

U

a

b= —1.39923 — 0.325641

16



ITI. u-Polynomials

Crossings u-Polynomials at each crossing
€1,C5 (u* —u® 4+ 3u? — 2u+ 1) (u™ +18u™ + -+ — 3u+1)
C2 (u* —ud +u? + )™ =20 4+ 3u+1)
€3 (u* —u® 4+ 3u? — 2u+ 1) (u™ — 2u™ + - - + 9257w + 4777)
C4,C10 u4(u74 — U =24y — 16)
€6 (' +u? +u? + )™ — 20+ 4 3u+ 1)
¢ (u +u® 4+ 3u? +2u+ D) (u™ +18u™ + -+ — 3u+ 1)
cs, Co (u— DM (W™ =50 + -+ 5u—1)
c11 ut (U™ + 27u" + - - - 4 1344u + 256)
c12 (u+1D)H W™ = 5u™ 4 -+ 5u—1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,¢s5, 07 (y  + 5%+ T2 + 20+ D)y + 78y + - — THy + 1)
c2, C6 (W' +o* +3° + 20+ 1)(y™ + 18y + - =3y + 1)
cs (y* +5y° +Ty* + 2y + 1)
S(y™ 18y 4 .- — 14218575y + 22819729)
¢4, C10 y(y™ — 27y™ + - — 1344y + 256)
Cg, Cg, C12 ((y—1)4)(y74—63y73+-~-+3y+1)
ci1 y(y™ 4 33y™ + - — 20480y + 65536)

18



